Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

OPAQUE FIBERGLASS DOORS
DOUBLES
w/ or w/o SIDELITES

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame anchoring & Hardware details

Bill of Materials & Components

(NN A |WIN|—

148.5" MAX. OVERALL FRAME WIDTH

r-— 74" MAX. FRAME WIDTH ——I« FRAME WIDTH |

MIDT

S OH
SC

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

37.25" MAX.

98" OVERALL FRAME HEIGHT

/
VA

—
T
(O]
L
T
s
6(6
0 &z
z 5 0] @)
o <=
ZzZ x£2
:gg @
o X o X
K
5
X o X
XX

XX

74.0" x 98.0"

OXXO

148.5" x 98.0"

+45.0

-50.0

+45.0 | -45.0

SEE SHEET 8 FOR ASTRAGAL DESIGN PRESSURE LIMITATIONS

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NO. DATE

REVISIONS

DATE: 8/18/22

SCALE:  N.T.S.

DWG. B:  LFS

CHK. BY: RW

DRAWING NO.:
TX—-5282

SHEET 1 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDN\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

— | 0_4" 3.7“
<_T d EXTERIOR 4'—e e
* X 1 B
) INTERIOR \
carfpvey ST I LATCHSTILE (Lvl) ~ CAP(PVC)
/"1 "\ HORIZONTAL CROSS SECTION
35.75" MAX. PANEL (ng Alj\/}:l;.
WIDTH : <
N ;e S
FOAMCORE — |
5 o
10 3 1

s = INTERIOR EXTERIOR

6 \2/ IRIEEIES EXTERIOR

T /a

g : _/1

= -

2 :

= ()

Q X -

% VIR
DOOR SKIN —| .

SEE DOOR LOCK
HARDWARE TABLE _
BOTIOM RAIL— | i

(COMP.) -

&

@ PLASTPRO DOOR PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: POLYURETHANE

KNOB:

"SERIES (400)

KWIKSET | DeapBoOLT: ~ SERIES (660)
KNOB:  SIGNATURE SERIES
KWIKSET | DEADBOLT: * SIGNATURE SERIES (980)
KNOB: F-SERIES (F51)
SCHLAGE | beapBoLT: * B-SERIES (B60)

m VERTICAL CROSS SECTION

\2/

CLLL LT

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o
g8 2
20 <
on |- el
xh |5 8=
LS |D &~
[G) = Ly
0l |o =
T 7] S
am | %

.o LL

= 14

[S]

8 (@]

S k

x P

>_
m
n
pd
@)
n
x
=
<
a
o
z

DATE: 8/18/22

scae:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
TX-5282

SHEET _2 OoF _8

© 2022 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

| =—04" 3.7
- EXTERIOR 04" ——| =
S x TR i B
| N
) INTERIOR \
cappue T ~ LATCHSTILE (Lvi)  CAP (PVC)
/"1 "\ HORIZONTAL CROSS SECTION
3/
35.75" MAX. PANEL
' WIDTH
| 2LI3'MAX.
D.L.O. WIDTH
<
/ ODL LITE FRAME - 5/8" GLASS BITE
Va
y " 1" O.A. GLASS THK.
INTERIOR
[: 1/8" TEMPERED GLASS
- 1\ L ARSPACE
=
5 5 NG <> N S5 —1/8" ANNEALED GLASS
R 0.090" SAFLEX PVB INTERLAYER
o - T |~ ———1/8" ANNEALED GLASS
£ 3 O
X% EXTERIOR * STEEL SPACER (INTERCEPT)
é f #7-19 X 2'PPHSMS  DOW 995
g B . * NON-STRUCTURAL BACKBEDDING
o~ N (::) GLAZING DETAIL (READ|—SE AL)
/ l\\
i #7-19 X 2" PPH SMS -
¥ (22 PLCS.) : ”l
} 0.1" Ilﬁ ]
= 1 N 5 )
2 L #8 X 3' FH WS @ EACH CORNER T L
o THROUGH STILE INTO RAIL (4 TOTAL ) {
(Vo)

@ PLASTPRO SIDELITE PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: POLYURETHANE

ODL ALUMINUM LITE FRAME DETAIL

"Flat Frame" Profile

EANEINCE
S 1S
TOPRAIL — [ 7 i IS AN
(COMP.) AR o i1
??\/,6:". e
& RS i E LG
S - zllvf ¥iT3 3 S
: AARRRLLR Ry
FOAM CORE — [
/i
A
-
IERIOR % EXTERIOR
# -'
f
—f
FIBERGLASS SKIN—""]
N
BOTIOM RAIL—1|"
(COMP.) |

7“2\ VERTICAL CROSS SECTION

N8/

uj
aQ
53 2 oy
[ 3 Ll
£ 0 yo
Qo . ] & -
0w Om (Dl
2 £ N Gu
™ i O
FE2 %
c =
8g E°°’ 32
e <29 5o
>‘i— EEWN ==
2 Jdpg0© 0k
a>m 0nE
Zow 5Bk
3 gn ¥ o
i) OWN-= p
(4] (4
o O Xz L
) Zz 8 Ol
c 5%e 95
o] c
a 44506 2
3 50¢ ﬂé}:_-'
& Do S8
-
: X IE
c
P a8
3 =
[}
o
'
o8 sl
=0 L)._IE
own o =4
xo |5 g
&S o ;-
= =W
S
am |9 &
= I
2 o
el |E
o o
>..
m
”n
=z
o
wn
o
L
<
o
o
=z
DATE: 8/18/22
scAle:  N.T.S.
DWG. BY: RW
CHK. BY: RW
DRAWING NO.:
TX—5282

SHEET 3 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIgIing *"Mm's 2202 Q

ZS8LL—4 # NOILVMLSIOZN 40 FLVOIHILNID SNOISIAZY
sy3 i
ANIONI TVNOISSIH08d 40 a¥vod Svx3l SNOILYATTT A8 41vd [ON ﬂ o % al & 8_
L6L6°6G9°CLE 'ON 8uoyd ; . %
S6SEE 14 O9MIPA 0€Z Xog ‘O'd \H\Mﬂgw ‘ATAN3SSY ¥0 Ldvd W el e & w by 5
"ONI ‘SINVLINSNOO ONIaTing ﬂ = g | 4_
¥00a SSY19438ld N EIERS
SZLYOL# "3'd Svxal ‘ONI 08dISY1d i m I I
‘3'd ‘IPIWYDS 4 uopuik] :Ag pedpdeld sjuswinooq :19N0doYd 28 W m w M

.
3 eesasensasarse csease sesanedenis

m 1OINHOS 3 NOONA
o

evceeoer
PP T T L ik FL&

\‘\.
%

/
Va

ELEVATION
OXXO

ELEVATION
XX

Bmpz8zs-XL\sBumelq - D\1edw| 719 18 DO 0-8 XXXX ¥d - IALNAL - 8\LNINVIANYId du] ‘oidise|d\syuaiD\'Z



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

0.15" C-SINK
(TYP.)

S . . S S S

D, S S S S

A&

/"1 "\ HORIZONTAL CROSS SECTION

\\/ Outswing shown (Inswing similar)

A\ \

g¥e

N
8 &

=

7”5\ HORIZONTAL CROSS SECTION

Outswing shown (Inswing similar)
W Bcck—fo%ock Jor%bs

I/

INTERIOR

SEENOTE 1 |

OF

\\

N

EXTERIOR

INTERIOR

EXTERIOR

/ DRYWALL

D

®

L EXT. SHEATHING .\

/" 2"\ HORIZONTAL CROSS SECTION

\y Outswing shown (Inswing similar) EXTERIOR

A\

o o

7~ "\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

EXT

SHEATI-ilhEB\ '

y

A\

7“3\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

EXT

SHEATH.II\A\

S

INTERIOR

NOTES:

1. Spacing for item L: 6" from each end plus

5 more equally spaced along sidelite

jamb (7 total).

2. Spacing foritem L @ head &sill: 6" from

ends (2 total).

e /DRYWALL

o

SEE NOTE 2

(L

EXTERIOR

T
s

A\

/~ 4\ VERTICAL CROSS SECTION

\y Outswing shown (Inswing similar)

INTERIOR

ui
R
S 0
o
‘J'g.? w 59
Nl £ 3 yo
sldu B By
¢ z z
Nl 2~ Gu
N 5
52 L5 25
S £o2 35
\ 2w 02 5o
~ TN =
2 3Jge bk
>0 O
Z om BB
.. om 5
N OnN. KO
m o o Ll
o xz %
he) Z 0 L
o Sme OYf
2 25 ¢
R 1
o 05
m=
2 £
6 r
E §8
3 =
[+
[a]
=
QU)
o —
;S ez
29 WO
=0Q I-G
QO s ]
o) il %]
o m| <
=3 s S0
0o LJ ZU')
Jx |of §C
Fu |9 Qx
P
I S
= N
S e
& P
>_.
m
)
z
o
n
o
=
<
o
o
=
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX-5282

SHEET 5 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



A\ NOTE: JRECCRCRLLTY u
: SRR 2 & o R
INTERIOR EXTERIOR 1. Spacing foritem L @ head & sill: 6" from f: *: ‘5 Q JE a
/i each end (2 total). 5@ =33 T ;.':; o W
INTERIOR EXTERIOR EmR % g* 8 22
@ T (91 o Gmw Q7
AT N R T~
3)2) (40 A ASEE -2 §ta g%
é s 1L 3 o zZ8q 22
o, i9i sF ELB 8P
U iZ e T 3% fig
20) 26 Qp x pei > £ Zgb &b
h‘,l~~—‘~,n-'\_'\.‘\"" ) QN g
== - N 0 xz ,©
e Zop 9%
T 2 246 0
) 5Qc i
ﬁ & mon 5 5
B § ok
5 2k
E K B8
° [l
\ 8
\
P ) wooD
D ) CONCRETE « 9
O
= S0
/1 VERTICAL CROSS SECTION /2> VERTICAL CROSS SECTION = | &2
w Inswing Sil W Outswing Sill E% E 35
0o |5 =6
N5 |9 &
gD 9=
sl * |8
Q =
S
>_
om
\
INTERIOR EXTERIOR WOOD/CONCRETE
\\ SUBSTRATE (TYP.)
INTERIOR EXTERIOR
@\ /3" VERTICAL CROSS SECTION 2
6 / ADASI o
SEE NOTE 1 ? 2 &/ 7
< SEENOTE 1 X2 >
DL @B :
> & | Yy
I ¥ e =
Z <
: 2
g\ Z z
% ' DATE: 8/18/22
o WOOD 0 woeo ScAE  N.T.S.
Q CONCRETE DWG. BY:  LFS
Q CONCRETE CHK. BY: RwW
72\ VERTICAL CROSS SECTION /"5 VERTICAL CROSS SECTION DRAWIG RO
\_&_/Tnswing Si \_6_/ Outswing Sil TX—5282
SHEET _6 oF _8

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

s 3 &g
o< S% 0
. 2w £8 o L
¢ 3 (TVP) —| |=— e £= a2 4o
2" (TYP.) —— f=— 6 4 (TP - 2'(TYP. I K3 , oy gB 2f
4" (TYP.) ——] me) ™ [ 4" (1vP) ——| 4" (TYP) —] () me) ™ [ = : k-; é_d@ g
7 — 7] E o <
iR 1 I L Ifrn g FIffd 1 SEEHINGE P g z8g 33
| f 44— DEIAL 383 43
I ¥ I \see % 13 p>o HE
SEE s —_— - o ,.o-) o oW
l s I DETAIL 1 5 B § On. £Q
|| DETALL T o &= I = w OQEZ F
— = = = = — = = 8 Z&, 6u
HEADT%;IAMBS Il HEAD & JAMBS Il 8 % o g @8
(TYP) H (TYP.) I £ Bed gk
m
— — — —_ — { 3 2 i
I " ] 5 = gk
I I (TYP) < : SO
” ! a2 g
B I T [ B I ~ SE
I I <
Il
- H o - — I — — T El: SEE HINGE - 2
;O =<
I Q concrere |l PEAL2 g8 | EE
I Q CONCRETE GE G on |.. EQ
= s I (P)wooo —| S5 |- (P)wooo | SEE = —| o& SRS
in > SILL (TYP.) in > o2 |5 L=
*DETAIL 2 “ SILL (TYP) <3 \ | DETAL2 <3 . ﬁ/ : 3= (7 $8
* Il * i . B[S ET
- | ]k g - Nk
\ SN l L NI N 1 L Tl ST
I P If 7 | 1 | ! [
4 (vp) —=| | 4 (TYP) ——| |~ ol g R
XX OXXO HINGE JAMB -
e _—— m
FRAME ANCHORING (7) #8 X 1"FH
WOOD SCREWS
* NOTE: THESE ANCHORS ARE REQUIRED FOR DESIGN PRESSURE > 40 PSF ONLY
o
NOTE: FRAME CORNERS ATTACHED w/ o2 7]
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.) W @ —N\— z(2 . (17) #8x 2" PH S
2| . SELF-DRILLNG 7
® o e /@ o [ &-—«’@ ;‘f @ = ‘ S E
o | {lo] =
@4' i @4:’“?& 3° T 1
3 35 SO P
= .
CONCRETE \ A : \ ' >
n \ : z
PRIRAGAL STRIKE FLATE HINGE DETAIL 1 HINGE DETAIL 2 I RE i
(1.19"x3.25" P ) woOD B,@ i ® 3
— O "o
=y : | @ © b & S
o - | |E N
=+ = R — = ::L W\ : ‘L{ { = =
=== — W - - DATE: 8/18/22
toy = ? SAE_ N.T.S.
LATCH & DEADBOLT DETAILS o S e
i As‘]' d g . .
DETAIL 1 DETAIL 2 DETAIL 2 /8" @BOLTHOLE ol ° i ow o RW
Astragal Strike Plate @ Head Astragal Strike Plate @ Sill  Astragal Bolt Hole @ Sill Endura  DLP DRAWING NO.:
Inswing Threshold Outswing Threshold s
. HARDWARE DETAILS ASTRAGAL SCREW LOCATIONS 1X—5282
SHEET _7 oF _8

© 2022 R.W. BUILDING CONSULTANTS INC.



_—

4.56" b
BILL OF MATERIALS ‘ oy
ITEM # | DESCRIPTION MATERIAL . R % S , B
A 2X FRAMING (G >=0.42) WOOD Q = é: . % gg
C__|1/4"MAX. SHIM SPACE i - = i 5 cr £ gl
D | 1/4"@ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL f ! 0.44" | 5 1 s$ P53
G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL ' E‘E £ é % o9
J #10 X 2" PFH WOOD SCREW STEEL POLY FIBER JAMB § Z <] Qg
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL @ . 21" 2 8 w Eg
P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL L | ' T 23 2 LcSE
1 [POLY FIBER JAMB COMP [, SIDELITE e 9,8 .S
6 DOOR SWEEP PVC .— ADAPTER Y Bdi gg
7 | WEATHERSTRIP FOAM f (&= ~ 2 § ik
9 #9 X 3/4" PFH WOOD SCREW STEEL = [ v ey LBty TR ety £ g §E’
11 4" X 4" HINGE STEEL + ARGl e S St § F
12 | LATCH STRIKE PLATE STEEL °
13 DEADBOLT STRIKE PLATE STEEL 4.56" 4.56"
16 #8 X 2-1/2" PFH WOOD SCREW STEEL INSWING THRESHOLD
20 | INSWING THRESHOLD ALUM/COMP 20 fendura (z5eries 21 ) pote il = HOID w/ SIDETITE ADAPTER x| o
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP (25§ L2
22 OUTSWING THRESHOLD ALUM/COMP SIDELITE gm ﬁ ;
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP ADAPTER gg é 2
24 | ADATHRESHOLD ALUM Oy | r 52 |53
25 OUTSWING THRESHOLD ALUM/WOOD  — f o n.'ﬁj' @ 4:
26 INSWING THRESHOLD ALUM/WOOD {: st R TR » - B - o B
27 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD § a S
33 ASTRAGAL (DLP OR ENDURA) ALUM | . | &2 <
I 4.56 " o o
40 | DOOR PANEL - ! 4.56
50 [ SIDELITE PANEL - 99} QUISWING THRESHOLD OUTSWING THRESHOLD w/ SIDELITE ADAPTER &
Endura (Z-Series) @ Endura (Z-Series)
| 4.56" 8 &
' 456" ' T - 457"
’ 0 T .
I n
. ADA THRESHOLD o = — U "= =
S 25 OUTSWING THRESHOLD
CONCRETE ANCHOR NOTES: DLP 2 INSWING THRESHOLD
. Concrete anchor locations at the corners may be adjusted to maintain the min. DLP
edge distance to mortar joints. ~—1.75" - 175" .
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo - ) 3
maintain the min. edge distance to mortar joints, additional concrete anchors D, #1 o i 2.12" | il
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. A1 | l;:
. Concrete anchor table: 5/16" @ SLIDE BOLT [ (m)
: & ELEL' 5/ 6';@ SLIDE BOLT i (9-1/2" LONG w/ 1 P
o~ i (2'THROW @ N 1-1/4" THROW @ =
. —— EACH END) EACH END) DATE: 8/18/22
® / 2 I1; (L SCALE:
TAPCON 14" 2 g ©= NYLON BOLT \| : N.T.S.
- 14" 1 & CONCEALED RETAINER T | oWe. B:  LFS
ULTRACON STIFFENER ENDURA ASTRAGAL & | 4.57" . CHK. BY: RW
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of DLP INSWING THRESHOLD w/ SIDELITE ADAPTER TX—5282
wood screws to prevent the splitting of wood. | MAX. DESIGN PRESSURE = £45 PSF 27 DLP = 2
SHEET 8 oF _8

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5282.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



